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	Tutorial 3

The Meaning of Slope for a Position-Time Graph
	MOTION
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Please refer to Lesson 3 (The Meaning of Slope for a Position-Time Graph) on the following website and use the questions below as a guide to work through the tutorial.  Be sure to click on any links for animations!

http://www.physicsclassroom.com/Class/1DKin/U1L3b.html
The value of the slope of any linear section on a position-time graph is the velocity of the object.

Also note the following:

· A small slope = a small velocity

· A negative slope = a negative velocity

· A constant slope (straight line) =constant velocity

· A changing slope (curved line) = changing velocity (or acceleration)

Now study the following examples:

1.  Consider a car moving with a constant velocity of +10 m/s for 5 seconds. The diagram below depicts such a motion.
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In the space below draw the graph (position versus time) to show the motion of the car in this example.

2.   Now consider a car moving at a constant velocity of +5 m/s for 5 seconds, abruptly stopping, and then remaining at rest (v = 0 m/s) for 5 seconds.
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In the space below draw the graph (position versus time) to show the motion of the car in this example.

Both of these examples reveal an important principle. The principle is that the slope of the line on a position-time graph is equal to the velocity of the object. If the object is moving with a velocity of +4 m/s, then the slope of the line will be +4 m/s. If the object is moving with a velocity of -8 m/s, then the slope of the line will be -8 m/s. If the object has a velocity of 0 m/s, then the slope of the line will be 0 m/s.
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